The Factor Theorem
What does it mean if P(a) = 07?

P(x) has the factor (x - a) if and only if P(a) = 0

Which of the following binomials are factors of
P(x) = x> - 3x*- x + 37
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ex. Given that (x + 2) is a factor of P(x), express P(x) as
a product of its factors.

P(x)=x®+2x*-x -2
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ex. Given X = 4 is one of the zeroes of Q(x) = 2x° - 5x° - 11x - 4
determine all of the other zeroes.
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ex. Fully factor: M(x) = 2x” - 9x“ + 7x + 6; ; 3
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ex. When P(x) is divided by x - 3, it has a quotient of 2x*+ x - 6
and a remainder of 4. Determine P(x).
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ex. When 2x° + kx® - 3x + 2 is divided by x - 2, the remainder
is 4. Determine the value of k.
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ex. Find the value of a if (x - 2) is a factor of ax®+ 4x*> + x - 2.
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